BEAD GEXEF - BTT )

fa4fE I |A B
b 1 X % # F O A | 5 7T

B 7 B o X 6,677 13,322 6,936 6,386

X B # K 1,175 2,886 1,418 1,468

£ F # K 577 1,467 743 724

N RO K 996 2,649 1,349 1,300

Bl %&£ # K 6,913 14,886 7,285 7,60 |

Nn |’ R # X 1,307 3,149 1,535 1,614

ik x M # K 1,052 2,483 1,224 1,259

it & & # K 7,860 18,732 8,99 | 9,741

BE o M o X 6,320 16,037 8,014 8,023

& 5 32,877 75,61 | 37,495 38,116
Sf4FE | 1R H

Hw K & B T 4 tH#H B | A 0 B £°3

BE 7 U X BETEIATA 4,482 9,289 4,661 4,628
¥ P 186 343 193 150

® g 430 843 436 407

£ L o H 733 1,306 816 490

g R H 293 512 273 239

% H] 553 1,029 557 472

o ORX 3 6,677 13,322 6,936 6,386

N E # X = B 87 212 106 106
X & 811 1,980 q71 1,009

B K EH | 40 358 | 74 | 84

+ K 18 #r 8 137 336 167 169

A - S 1,175 2,886 1,418 1,468

k P # K ® B H 143 360 | 84 176
& fF 16 39 17 22

¥ @\ H 126 404 192 212

& & H 96 229 109 120

R HT 126 272 157 115

K & 70 163 84 79

H X3 577 1,467 743 724

N R O X N R H] 181 418 211 207
BN R H 142 386 195 191

7 PR HT 32 77 37 40

B R ¥ 465 1,321 685 636

g B 65 1 80 87 q3

2 1] 1] 267 |34 133

H X3 996 2,649 1,349 1,300
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BEAD GBXF - BT T35

fa4fE I |A B
i K % B/ T A& #HF B | A = B -8
Bl %&£ #% x | Bl &% H 628 1,525 738 787
F9 & %7 B 8T | 2 2 0
A i HT 162 415 200 215
m v B 715 1,620 786 834
& % 6 939 2,179 1,009 1,170
Bl % a8 396 156 240
%= & 1,925 3,956 1,983 1,973
EZEE | TB 223 419 211 208
B 2TB8B 432 865 425 440
8 3 T8 4617 782 394 388
8 4 TB 721 1,377 710 667
MW I 30 18 12
NGB OFE S HT 435 923 460 463
FE EC & %7 E 0T 16 43 17 26
N wE o ET 1 40 354 176 178
o X 6,913 14,886 7,285 7,601
IR K3t B R AR ET 1,307 3,149 1,535 1,614
#H K3 1,307 3,149 1,535 1,614
it XX R i X & ¢ € 78 234 121 113
& ¢ ¥ @ ] 62 152 74 78
A Bk OE T 108 255 1 20 135
g @\ 64 148 74 74
it # H 73 199 qq 100
BN OB f] 31 87 44 43
® A 66 183 q3 q0
X B 6 18 8 10
e | TH ql 185 98 87
EmNE2TAH ql 204 93 |11
a3 TH 106 208 102 106
e 4 TH |34 306 |47 |59
maAES5TH 54 119 59 60
a6 TH 88 185 g2 93
A - G- 1,052 2,483 1,224 1,259
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EEAD (X3 - BTT 5)
Sf4FE 1B B
H B % Bq T 4% #H HF R A = B -8
LtES®RE | EWw I TH 187 41 | 198 213
£EWL2TBH 198 455 210 245
£WL3TBH 177 400 206 194
£ 4 TBH 336 896 394 502
£WL5TAH 270 615 292 323
fFWL6TRH 283 687 346 341
£WL 7 T8 233 577 285 292
£WL 8 TBH 276 623 309 314
WmEITB 435 930 433 497
WmwWE2TB 130 339 162 177
W¥E3ITBHE 230 519 268 25|
WwWE 4 TB | 54 362 176 186
W¥ESTBH 244 576 276 300
WwW¥E6TRBH 263 629 294 335
NS T B 28 66 34 32
N2 T B 348 905 450 455
N3 T B 181 403 207 196
NS4 T B 562 1,217 558 659
&1 TH 202 480 237 243
& 2T7TEH 233 574 279 295
&3 T7TEH 138 322 168 | 54
& 4T7TH 26| 680 326 354
&5 T7H 186 436 192 244
BARE | TH 197 502 247 255
BRE2TH 208 572 276 296
vHRE3ITHE 71 190 93 q7
BARE4TH 203 463 219 244
PHRESTH 29| 772 353 419
Afk& | TH 157 394 194 200
A& 2TH 169 419 211 208
A& 3TH 341 807 401 406
AfR&4TH 668 1,511 697 814
# X E 7,860 18,732 8,99 | 9,741
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BEAD GBXF - BT T35

Sf4FE 1B B
H B % Bq T 4% #H HF R A = B -8
Ry MR | @yl TH 165 756 499 257
BT E2TH 161 413 209 204
By aE3TH 194 463 236 2217
BT E4THE 278 754 361 393
BT ES5TH 328 814 373 44|
By R 6TH 322 921 468 453
By ETTBE 420 1,148 590 558
W/ NI TE 288 711 332 379
W/ N2TH 228 573 275 298
W/ N3TH 367 990 482 508
W/ N4TH 286 764 376 388
W/ N5TH 279 729 366 363
wr e TH 506 1,110 562 548
WrE2TH 442 992 485 507
wrE3TH 355 1,012 508 504
WwWrE4TH 321 546 264 282
BRI TE 282 738 372 366
BR2TE 438 1,034 517 517
BR3TAH 310 765 385 380
BR 4 TEBE 332 618 299 319
B | TH | | 40 33 107
v B 3 TH |7 46 22 24
#H K3 6,320 16,037 8,014 8,023
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